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SET LANGUAGE

Example

1. Consider the set A = {Ashwin, Murali Vijay, Vijay Shankar, Badrinath }. 

Fill in the blanks with the appropriate symbol  


Murali Vijay ______ A.

View Text Solution

∈ or ∈

2. Consider the set A = {Ashwin, Murali Vijay, Vijay Shankar, Badrinath }. 

Fill in the blanks with the appropriate symbol  
∈ or ∈

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_q9f5vpRcU9HP
https://dl.doubtnut.com/l/_XbVCgeBSZdTz


Ashwin ______ A.

View Text Solution

3. Consider the set A = {Ashwin, Murali Vijay, Vijay Shankar, Badrinath }. 

Fill in the blanks with the appropriate symbol  


Badrinath ______A.

View Text Solution

∈ or ∈

4. Consider the set A = {Ashwin, Murali Vijay, Vijay Shankar, Badrinath }. 

Fill in the blanks with the appropriate symbol  


Ganguly ______ A.

View Text Solution

∈ or ∈

5. Consider the set A = {Ashwin, Murali Vijay, Vijay Shankar, Badrinath }. 

Fill in the blanks with the appropriate symbol  
∈ or ∈

https://dl.doubtnut.com/l/_XbVCgeBSZdTz
https://dl.doubtnut.com/l/_FnrZnCbv9nGQ
https://dl.doubtnut.com/l/_xSeRi7JbpCPw
https://dl.doubtnut.com/l/_gaPyNLrlqDoK


Tendulkar ______ A

View Text Solution

6. Write the set of letters of the following words in Roster form 

ASSESSMENT

View Text Solution

7. Write the set of letters of the following words in Roster form 

PRINCIPAL

View Text Solution

8. If A = {1,2,3,4,5,7,9,11}, find n(A).

View Text Solution

https://dl.doubtnut.com/l/_gaPyNLrlqDoK
https://dl.doubtnut.com/l/_R2ZV10Mc6Aa5
https://dl.doubtnut.com/l/_dU7NkrgUZ8hl
https://dl.doubtnut.com/l/_SCYaf4MFpMsh


9. Are  and Q = The set of all prime factors

of 210, equivalent sets?

View Text Solution

P = {x : − 3 ≤ x ≤ 0, x ∈ Z}

10.  equal sets?

View Text Solution

A = {x : x ∈ N, 4 ≤ x ≤ 8} and B = {4, 5, 6, 7, 8}

11. Insert the appropriate symbol  in each blank to make a

true statement. 

{10, 20, 30} ____ {10, 20, 30, 40}

View Text Solution

⊆ or ⊆

12. Insert the appropriate symbol  in each blank to make a

true statement. 

⊆ or ⊆

https://dl.doubtnut.com/l/_Ki771Uz8HDY0
https://dl.doubtnut.com/l/_183ITThGqMu6
https://dl.doubtnut.com/l/_k4o0nXHeXqZu
https://dl.doubtnut.com/l/_otFvAhJ7Sbpc


{p, q, r} _____ {w, x, y, z}

View Text Solution

13. Write all the subsets of A = {a, b}.

View Text Solution

14. Verify whether A={20, 22, 23, 24} and B={25, 30, 40, 45} are disjoint sets.

View Text Solution

15. Find the number of subsets and the number of proper subsets of a set

X={a, b, c, x, y, z}.

View Text Solution

16. If U = {c, d, e, f, g, h, i, j} and A = { c, d, g, j} , find A′

https://dl.doubtnut.com/l/_otFvAhJ7Sbpc
https://dl.doubtnut.com/l/_I9Au5Ku1vJ84
https://dl.doubtnut.com/l/_2LBamWajQOuW
https://dl.doubtnut.com/l/_kBV76XcNwHjE
https://dl.doubtnut.com/l/_UgMgRkSv8Adw


View Text Solution

17. If P={m, n} and Q= {m, i, j}, then, represent P and Q in Venn diagram and

hence find  


View Text Solution

P ∪ Q

18. Let A = {x : x is an even natural number and } and B = { x : x

is a multiple of } be two sets. Find .

View Text Solution

1 < x ≤ 12

3, x ∈ N and x ≤ 12 A ∩ B

https://dl.doubtnut.com/l/_UgMgRkSv8Adw
https://dl.doubtnut.com/l/_6ofrQY2vHxDe
https://dl.doubtnut.com/l/_K7k2NAkvJzol
https://dl.doubtnut.com/l/_8nkMU61bWW8u


19. If A = {2, 3} and C = { }, find 

View Text Solution

A ∩ C

20. If , find 


View Text Solution

A = { − 3, − 2, 1, 4} and B = {0, 1, 2, 4}

A − B

21. If , find 


View Text Solution

A = { − 3, − 2, 1, 4} and B = {0, 1, 2, 4}

B − A

22. If A = {6, 7, 8, 9} and B={8, 10, 12}, find 

View Text Solution

AΔB

https://dl.doubtnut.com/l/_8nkMU61bWW8u
https://dl.doubtnut.com/l/_ZwLTVIZGpRnk
https://dl.doubtnut.com/l/_0ocdLHz3U2VI
https://dl.doubtnut.com/l/_KAjMCxfgccCn
https://dl.doubtnut.com/l/_MRlGlZjTmd36


23. From the given Venn diagram, write the elements of 

A

View Text Solution

24. From the given Venn diagram, write the elements of 

B

View Text Solution

25. From the given Venn diagram, write the elements of 

View Text Solution

A − B

26. From the given Venn diagram, write the elements of 

View Text Solution

B − A

https://dl.doubtnut.com/l/_MRlGlZjTmd36
https://dl.doubtnut.com/l/_iSaUfoad63J7
https://dl.doubtnut.com/l/_IW7L2AISV2vC
https://dl.doubtnut.com/l/_z0mFFqhvrq1F


View Text Solution

27. From the given Venn diagram, write the elements of 

A'

View Text Solution

28. From the given Venn diagram, write the elements of 

B'

View Text Solution

29. From the given Venn diagram, write the elements of 

U

View Text Solution

https://dl.doubtnut.com/l/_z0mFFqhvrq1F
https://dl.doubtnut.com/l/_K42Yl3DkkaUA
https://dl.doubtnut.com/l/_91PNXgFNuWPB
https://dl.doubtnut.com/l/_LlgzKzEgqm4A


30. Draw Venn diagram and shade the region representing the following

sets 

A'

View Text Solution

31. Draw Venn diagram and shade the region representing the following

sets 

View Text Solution

(A − B)'

32. Draw Venn diagram and shade the region representing the following

sets 

View Text Solution

(A ∪ B)'

https://dl.doubtnut.com/l/_UQvADPkFxDQV
https://dl.doubtnut.com/l/_ELR2LJZ1B1jL
https://dl.doubtnut.com/l/_jzhQDjUEjU0p
https://dl.doubtnut.com/l/_maw7tVtIX8l7


33. If , then verify the commutative

property of 

union of sets

View Text Solution

A = {b, e, f, g} and B = {c, e, g, h}

34. If , then verify the commutative

property of 

intersection of sets.

View Text Solution

A = {b, e, f, g} and B = {c, e, g, h}

35. If

, then verify 

View Text Solution

A = { − , 0, , , 2}, B = {0, , , 2, } and C = { − , , 1,
1

2

1

4

3

4

1

4

3

4

5

2

1

2

1

4

A ∩ (B ∩ C) = (A ∩ B) ∩ C

https://dl.doubtnut.com/l/_maw7tVtIX8l7
https://dl.doubtnut.com/l/_nE7UUCeHKKlV
https://dl.doubtnut.com/l/_A2Tb7Lphsmyc


36. If , B= {x: x is a prime number and } and 

 then verify 

View Text Solution

A = {0, 2, 4, 6, 8} x < 11

C = {x : x ∈ N and 5 ≤ x < 9}

A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)

37. Verify  using Venn diagrams.

View Text Solution

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C)

38. Verify  using Venn diagrams.

View Text Solution

A − (B ∪ C) = (A − B) ∩ (A − C)

39. If

, then verify 

p = {x : x ∈ W and 0 < x < 10}, Q = {x : x = 2n + 1, n ∈ W and n < 5

P − (Q ∩ R) = (P − Q) ∪ (P − R)

https://dl.doubtnut.com/l/_mULOfREH6qYk
https://dl.doubtnut.com/l/_Vz2nfi4kHnEj
https://dl.doubtnut.com/l/_1nX8nRGp2iJY
https://dl.doubtnut.com/l/_ODCfAJezoIo5


View Text Solution

40. If

, verify De Morgan’s laws for complementation.

View Text Solution

U = {x : x ∈ Z, − 2 ≤ x ≤ 10}, A = {x : x = 2p + 1, p ∈ Z, − 1 ≤ p ≤ 4

41. From the Venn diagram, verify that

View Text Solution

n(A ∪ B) = n(A) + n(B) − n(A ∩ B)

42. If  find n

(U) and .

View Text Solution

n(A) = 36, n(B) = 10, n(A ∪ B) = 40, and n(A' ) = 27

n(A ∩ B)

https://dl.doubtnut.com/l/_ODCfAJezoIo5
https://dl.doubtnut.com/l/_1dsLDxllC7kF
https://dl.doubtnut.com/l/_XOsr9YEOWoVD
https://dl.doubtnut.com/l/_AbplgwzOXZ9P
https://dl.doubtnut.com/l/_nC88KUtgm7wd


43. Let . Verify that 

.

View Text Solution

A = {b, d, e, g, h} and B = {a, e, c, h}

n(A − B) = n(A) − n(A ∩ B)

44. In a school, all students play either Hockey or Cricket or both. 300 play

Hockey, 250 play Cricket and 110 play both games. Find 

the number of students who play only Hockey.

View Text Solution

45. In a school, all students play either Hockey or Cricket or both. 300 play

Hockey, 250 play Cricket and 110 play both games. Find 

the number of students who play only Cricket.

View Text Solution

https://dl.doubtnut.com/l/_nC88KUtgm7wd
https://dl.doubtnut.com/l/_Do34YEZeqx0g
https://dl.doubtnut.com/l/_IZNjj3Zi1yOJ


46. In a school, all students play either Hockey or Cricket or both. 300 play

Hockey, 250 play Cricket and 110 play both games. Find 

the total number of students in the School.

View Text Solution

47. In a party of 60 people, 35 had Vanilla ice cream, 30 had Chocolate ice

cream. All the people had at least one ice cream. Then how many of them

had, 

both Vanilla and Chocolate ice cream.

View Text Solution

48. In a party of 60 people, 35 had Vanilla ice cream, 30 had Chocolate ice

cream. All the people had at least one ice cream. Then how many of them

had, 

only Vanilla ice cream.

View Text Solution

https://dl.doubtnut.com/l/_5uReQz8NIp7t
https://dl.doubtnut.com/l/_0vivK3iAsYLx
https://dl.doubtnut.com/l/_edUFOMd90Jzc


View Text Solution

49. In a college, 240 students play cricket, 180 students play football, 164

students play hockey, 42 play both cricket and football, 38 play both

football and hockey, 40 play both cricket and hockey and 16 play all the

three games. If each student participate in atleast one game, then find 

the number of students in the college

View Text Solution

50. In a college, 240 students play cricket, 180 students play football, 164

students play hockey, 42 play both cricket and football, 38 play both

football and hockey, 40 play both cricket and hockey and 16 play all the

three games. If each student participate in atleast one game, then find 

the number of students who play only one game.

View Text Solution

https://dl.doubtnut.com/l/_edUFOMd90Jzc
https://dl.doubtnut.com/l/_OKlXCYKOgrqT
https://dl.doubtnut.com/l/_nxrROozmtp1e


51. In a residential area with 600 families  owned scooter,  owned car, 

 owned bicycle, 120 families owned scooter and car, 86 owned car and

bicylce while 90 families owned scooter and bicylce. If  of families

owned all the three types of vehicles, then find 

the number of families owned atleast two types of vehicle.

View Text Solution

3

5

1

3
1

4
2

15

52. In a residential area with 600 families  owned scooter,  owned car,

 owned bicycle, 120 families owned scooter and car, 86 owned car and

bicylce while 90 families owned scooter and bicylce. If  of families

owned all the three types of vehicles, then find 

the number of families owned no vehicle.

View Text Solution

3

5

1

3
1

4
2

15

53. In a group of 100 students, 85 students speak Tamil, 40 students

speak English, 20 students speak French, 32 speak Tamil and English, 13

https://dl.doubtnut.com/l/_AFeV8Jjgwmcl
https://dl.doubtnut.com/l/_AgzNn9wheN8h
https://dl.doubtnut.com/l/_IyN5d74TouY4


speak English and French and 10 speak Tamil and French. If each student

knows atleast any one of these languages, then find the number of

students who speak all these three languages.

View Text Solution

54. A survey was conducted among 200 magazine subscribers of three

different magazines A, B and C. It was found that 75 members do not

subscribe magazine A, 100 members do not subscribe magazine B, 50

members do not subscribe magazine C and 125 subscribe atleast two of

the three magazines. Find 

Number of members who subscribe exactly two magazines.

View Text Solution

55. A survey was conducted among 200 magazine subscribers of three

different magazines A, B and C. It was found that 75 members do not

subscribe magazine A, 100 members do not subscribe magazine B, 50

members do not subscribe magazine C and 125 subscribe atleast two of

https://dl.doubtnut.com/l/_IyN5d74TouY4
https://dl.doubtnut.com/l/_P0zcbbTaD5zG
https://dl.doubtnut.com/l/_HWKFEDJ57dLu


Exercise 1 1

the three magazines. Find 

Number of members who subscribe only one magazine.

View Text Solution

1. Which of the following are sets? 

The collection of prime numbers upto 100.

View Text Solution

2. Which of the following are sets? 

The collection of rich people in India.

View Text Solution

https://dl.doubtnut.com/l/_HWKFEDJ57dLu
https://dl.doubtnut.com/l/_1c7UAlL0bksS
https://dl.doubtnut.com/l/_juLpWB4mtuBj


3. Which of the following are sets? 

The collection of all rivers in India.

View Text Solution

4. Which of the following are sets? 

The collection of good Hockey players.

View Text Solution

5. List the set of letters of the following words in Roster form 

INDIA

View Text Solution

6. List the set of letters of the following words in Roster form 

PARALLELOGRAM

https://dl.doubtnut.com/l/_fOPHylvXIgpJ
https://dl.doubtnut.com/l/_0xqlSZWFgOcs
https://dl.doubtnut.com/l/_H4n4LCh6qdbe
https://dl.doubtnut.com/l/_ugrH4aAXo47R


View Text Solution

7. List the set of letters of the following words in Roster form 

MISSISSIPPI

View Text Solution

8. List the set of letters of the following words in Roster form 

CZECHOSLOVAKIA

View Text Solution

9. Consider the following sets A = {0, 3, 5, 8}, B = {2, 4, 6, 10} and C = {12,

14,18, 20}. 

State whether True or False: 

View Text Solution

18 ∈ C

https://dl.doubtnut.com/l/_ugrH4aAXo47R
https://dl.doubtnut.com/l/_clt30UyFrxef
https://dl.doubtnut.com/l/_rG5QJObVBwVa
https://dl.doubtnut.com/l/_ZFjQTEdyI0u2


10. Consider the following sets A = {0, 3, 5, 8}, B = {2, 4, 6, 10} and C = {12,

14,18, 20}. 

State whether True or False: 

View Text Solution

6 ∈ A

11. Consider the following sets A = {0, 3, 5, 8}, B = {2, 4, 6, 10} and C = {12,

14,18, 20}. 

State whether True or False: 

View Text Solution

10 ∈ B

12. Consider the following sets A = {0, 3, 5, 8}, B = {2, 4, 6, 10} and C = {12,

14,18, 20}. 

Fill in the blanks: 

 _____3 ∈

https://dl.doubtnut.com/l/_23IbfZiVH3eP
https://dl.doubtnut.com/l/_HeuVUndcoxlA
https://dl.doubtnut.com/l/_yYIFuwGRdsrx


View Text Solution

13. Consider the following sets A = {0, 3, 5, 8}, B = {2, 4, 6, 10} and C = {12,

14,18, 20}. 

Fill in the blanks: 

 _____

View Text Solution

14 ∈

14. Consider the following sets A = {0, 3, 5, 8}, B = {2, 4, 6, 10} and C = {12,

14,18, 20}. 

Fill in the blanks: 

18 ___B

View Text Solution

15. Consider the following sets A = {0, 3, 5, 8}, B = {2, 4, 6, 10} and C = {12,

14,18, 20}. 

https://dl.doubtnut.com/l/_yYIFuwGRdsrx
https://dl.doubtnut.com/l/_hvdEYwkbCMmU
https://dl.doubtnut.com/l/_R6nLrybIPveR
https://dl.doubtnut.com/l/_ygDzxzz9QcS1


Fill in the blanks: 

4 ____B

View Text Solution

16. Represent the following sets in Roster form 

A = The set of all even natural numbers less than 20.

View Text Solution

17. Represent the following sets in Roster form 

View Text Solution

B = {y : y = , n ∈ N, n ≤ 5}
1

2n

18. Represent the following sets in Roster form 

C = {x : x is perfect cube }

View Text Solution

27 < x < 216

https://dl.doubtnut.com/l/_ygDzxzz9QcS1
https://dl.doubtnut.com/l/_2OyCqopdh6UO
https://dl.doubtnut.com/l/_mgRUPZoTkErT
https://dl.doubtnut.com/l/_yQpMeUyy8HQ7


19. Represent the following sets in Roster form 

View Text Solution

D = {x : x ∈ Z, − 5 < x ≤ 2}

20. Represent the following sets in set builder form. 

B = The set of all Cricket players in India who scored double centuries in

One Day Internationals.

View Text Solution

21. Represent the following sets in set builder form. 

View Text Solution

C = { , , , …}
1

2

2

3

3

4

https://dl.doubtnut.com/l/_yQpMeUyy8HQ7
https://dl.doubtnut.com/l/_UAy5KQWxAQiI
https://dl.doubtnut.com/l/_UjipomtKVDg1
https://dl.doubtnut.com/l/_vcWuH3fhqHAB


22. Represent the following sets in set builder form. 

D = The set of all tamil months in a year.

View Text Solution

23. Represent the following sets in set builder form. 

E = The set of odd Whole numbers less than 9.

View Text Solution

24. Represent the following sets in descriptive form. 

P ={ January, June, July}

View Text Solution

25. Represent the following sets in descriptive form. 

Q = {7,11,13,17,19,23,29}

https://dl.doubtnut.com/l/_9Z6kGGlN70WW
https://dl.doubtnut.com/l/_7lkebZu0RzS6
https://dl.doubtnut.com/l/_PlucT2zbkKD7
https://dl.doubtnut.com/l/_B6qUPwBY3sq7


Exercise 1 2

View Text Solution

26. Represent the following sets in descriptive form. 

View Text Solution

R = {x : x ∈ N, x < 5}

27. Represent the following sets in descriptive form. 

= {x : x is a consonant in English alphabets}

View Text Solution

1. Find the cardinal number of the following sets. 

M = {p, q, r, s, t, u}

View Text Solution

https://dl.doubtnut.com/l/_B6qUPwBY3sq7
https://dl.doubtnut.com/l/_aRwELRkwmsrP
https://dl.doubtnut.com/l/_RhvExVBzAWpZ
https://dl.doubtnut.com/l/_9JOMxQNJB9TC


2. Find the cardinal number of the following sets. 

View Text Solution

P = {x : x = 3n + 2, ≠ ∈ W and x < 15}

3. Find the cardinal number of the following sets. 

View Text Solution

Q = {y : y = , n ∈ N and 2 < n ≤ 5}
4

3n

4. Find the cardinal number of the following sets. 

R = {x : x is an integers, }

View Text Solution

x ∈ Z and − 5 ≤ x < 5

5. Find the cardinal number of the following sets. 

S = The set of all leap years between 1882 and 1906.

https://dl.doubtnut.com/l/_51PIKqx87IIZ
https://dl.doubtnut.com/l/_XjOu72dtiRvD
https://dl.doubtnut.com/l/_LexUthKifRxB
https://dl.doubtnut.com/l/_9LI1vCDVi2Dg


View Text Solution

6. Identify the following sets as finite or infinite 

X = The set of all districts in Tamilnadu

View Text Solution

7. Identify the following sets as finite or infinite 

Y = The set of all straight lines passing through a point.

View Text Solution

8. Identify the following sets as finite or infinite 

View Text Solution

A = {x : x ∈ Z and x < 5}

https://dl.doubtnut.com/l/_9LI1vCDVi2Dg
https://dl.doubtnut.com/l/_l70a1iA13CIN
https://dl.doubtnut.com/l/_CJk3pxpGT3WK
https://dl.doubtnut.com/l/_kDauOvDPLFXZ


9. Identify the following sets as finite or infinite 

View Text Solution

B = {x : x2 − 5x + 6 = 0, x ∈ N}

10. Which of the following sets are equivalent or unequal or equal sets? 

A = The set of vowels in the English alphabets. 

B = The set of all letters in the word “VOWEL”

View Text Solution

11. Which of the following sets are equivalent or unequal or equal sets? 

C = {2,3,4,5} 

View Text Solution

D = {x : x ∈ WW , 1 < x < 5}

https://dl.doubtnut.com/l/_0GzdhpSpqvg8
https://dl.doubtnut.com/l/_2cY0lwTCCoBZ
https://dl.doubtnut.com/l/_Uu2WrO1gbjkA


12. Which of the following sets are equivalent or unequal or equal sets? 

X = { x : x is a letter in the word “LIFE”} Y = { F, I, L, E}

View Text Solution

13. Which of the following sets are equivalent or unequal or equal sets? 

= { x : x is a prime number and } H = { x : x is a divisor of 18}

View Text Solution

3 < x < 23

14. Identify the following sets as null set or singleton set. 

View Text Solution

A = {x : x ∈ N, 1 < x < 2}

15. Identify the following sets as null set or singleton set. 

B = The set of all even natural numbers which are not divisible by 2

https://dl.doubtnut.com/l/_ugZL4E4Mc5iX
https://dl.doubtnut.com/l/_UAcJUw8oRhsk
https://dl.doubtnut.com/l/_afeKltj4Wgq5
https://dl.doubtnut.com/l/_9BFn48fQww0e


View Text Solution

16. Identify the following sets as null set or singleton set. 

C={0}

View Text Solution

17. Identify the following sets as null set or singleton set. 

D = The set of all triangles having four sides.

View Text Solution

18. State which pairs of sets are disjoint or overlapping? 

A = {f, i, a, s} and B={a, n, f, h, s}

View Text Solution

https://dl.doubtnut.com/l/_9BFn48fQww0e
https://dl.doubtnut.com/l/_QQd7u9pOOYxt
https://dl.doubtnut.com/l/_eAB8qjTeDXMf
https://dl.doubtnut.com/l/_TNRImcl0JRxr


19. State which pairs of sets are disjoint or overlapping? 

C = {x : x is a prime number, } and D ={x:x is an even prime number}

View Text Solution

x > 2

20. State which pairs of sets are disjoint or overlapping? 

E = {x : x is a factor of 24} and F={x : x is a multiple of 3, }

View Text Solution

x < 30

21. If S = {square, rectangle, circle, rhombus, triangle}, list the elements of

the following subset of S. 

The set of shapes which have 4 equal sides.

View Text Solution

https://dl.doubtnut.com/l/_8aHWCatFOPDd
https://dl.doubtnut.com/l/_p1y0LUlSV5Az
https://dl.doubtnut.com/l/_HJne8riCkv5x


22. If S = {square, rectangle, circle, rhombus, triangle}, list the elements of

the following subset of S. 

The set of shapes which have radius.

View Text Solution

23. If S = {square, rectangle, circle, rhombus, triangle}, list the elements of

the following subset of S. 

The set of shapes in which the sum of all interior angles is 

View Text Solution

180∘

24. If S = {square, rectangle, circle, rhombus, triangle}, list the elements of

the following subset of S. 

The set of shapes which have 5 sides.

View Text Solution

https://dl.doubtnut.com/l/_czxCxzuu6SKP
https://dl.doubtnut.com/l/_dyLwzsEF2Iz4
https://dl.doubtnut.com/l/_qcYQoDDclOgx
https://dl.doubtnut.com/l/_2ueIthTIVivt


25. If A = {a, {a, b}}, write all the subsets of A.

View Text Solution

26. Write down the power set of the following sets: 

A= {a,b}

View Text Solution

27. Write down the power set of the following sets: 

View Text Solution

B = {1, 2, 3}

28. Write down the power set of the following sets: 

View Text Solution

D = {p, q, r, s}

https://dl.doubtnut.com/l/_2ueIthTIVivt
https://dl.doubtnut.com/l/_HDGzziiIy8TO
https://dl.doubtnut.com/l/_AY3RvstiTulB
https://dl.doubtnut.com/l/_fa4MLKAAvpXC


29. Write down the power set of the following sets: 

View Text Solution

E = ϕ

30. Find the number of subsets and the number of proper subsets of the

following sets. 

W = {red, blue, yellow}

View Text Solution

31. Find the number of subsets and the number of proper subsets of the

following sets. 

View Text Solution

X = {x2 : x ∈ N, x2 ≤ 100}

https://dl.doubtnut.com/l/_os2Cx0cw89c0
https://dl.doubtnut.com/l/_7ZZfbN9FdC7a
https://dl.doubtnut.com/l/_o9DsSFASeqqi


Exercise 1 3

32. If n(A) = 4, find n[P(A)].

View Text Solution

33. If n(A)=0, find n[P(A)].

View Text Solution

34. If n[P(A)] = 256, find n(A).

View Text Solution

https://dl.doubtnut.com/l/_5P4ikJFPH9ju
https://dl.doubtnut.com/l/_YrroShrPAw9n
https://dl.doubtnut.com/l/_vZhqVIDXA7qu


1. Using the given Venn diagram, write the elements of 

 


A

View Text Solution

https://dl.doubtnut.com/l/_lWcKBGLAUcZ5


2. Using the given Venn diagram, write the elements of 

 


B

View Text Solution

https://dl.doubtnut.com/l/_72RyT99xm7nw


3. Using the given Venn diagram, write the elements of 

 


View Text Solution

A ∪ B

https://dl.doubtnut.com/l/_elWb4JwzMEY2


4. Using the given Venn diagram, write the elements of 

 


View Text Solution

A ∩ B

https://dl.doubtnut.com/l/_X3orB5uum31b


5. Using the given Venn diagram, write the elements of 

 


View Text Solution

A − B

https://dl.doubtnut.com/l/_9FsH4qNZbaQj


6. Using the given Venn diagram, write the elements of 

 


View Text Solution

B − A

https://dl.doubtnut.com/l/_0q3wsRvtBegC


7. Using the given Venn diagram, write the elements of 

 


A'

View Text Solution

https://dl.doubtnut.com/l/_1Lod1eyEctyS


8. Using the given Venn diagram, write the elements of 

 


B'

View Text Solution

https://dl.doubtnut.com/l/_ilGKbowHDsRy


9. Using the given Venn diagram, write the elements of 

 


U

View Text Solution

10. Find  for the following sets. 


A= {2, 6, 10, 14} and B= {2, 5, 14, 16}

View Text Solution

A ∪ B, A ∩ B, A − B and B − A

https://dl.doubtnut.com/l/_Z2XWohV9KvY2
https://dl.doubtnut.com/l/_fWAzsLACCrRJ


11. Find  for the following sets. 


A= {a,b,c,e,u} and B= {a,e,i,o,u}

View Text Solution

A ∪ B, A ∩ B, A − B and B − A

12. Find  for the following sets. 


View Text Solution

A ∪ B, A ∩ B, A − B and B − A

A = {x : x ∈ N, x ≤ 10} and B = {x : x ∈ W , x < 6}

13. Find  for the following sets. 


A = Set of all letters in the word “mathematics” and 

B = Set of all letters in the word “geometry”

View Text Solution

A ∪ B, A ∩ B, A − B and B − A

https://dl.doubtnut.com/l/_Q11aGRI1upKs
https://dl.doubtnut.com/l/_Q5QsXnfzbNfL
https://dl.doubtnut.com/l/_Zpjzth6wKPVA


14. If ,

find the following sets. 

A'

View Text Solution

U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B]{a, d, e, h}

15. If , find

the following sets. 

B'

View Text Solution

U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B]{a, d, e, h}

16. If , find

the following sets. 

View Text Solution

U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B]{a, d, e, h}

A' ∪ B'

https://dl.doubtnut.com/l/_gM4yfpt1P3c2
https://dl.doubtnut.com/l/_5ZVkPab9UkqN
https://dl.doubtnut.com/l/_mbXXizEnU3WT
https://dl.doubtnut.com/l/_NkEvrvHIyDJM


17. If , find

the following sets. 

View Text Solution

U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B]{a, d, e, h}

A' ∩ B'

18. If , find

the following sets. 

View Text Solution

U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B]{a, d, e, h}

(A ∪ B)'

19. If , find

the following sets. 

View Text Solution

U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B]{a, d, e, h}

(A ∩ B)'

https://dl.doubtnut.com/l/_NkEvrvHIyDJM
https://dl.doubtnut.com/l/_B300QVyXuYqn
https://dl.doubtnut.com/l/_7icbShD0xL4Q


20. If ,

find the following sets. 

(A')'

View Text Solution

U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B]{a, d, e, h}

21. If , find

the following sets. 

(B')'

View Text Solution

U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B]{a, d, e, h}

22. Let U = ,

find the following sets. 

A'

View Text Solution

{0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}

https://dl.doubtnut.com/l/_AHSMkBmfz3FV
https://dl.doubtnut.com/l/_CoDSGrVDjIC3
https://dl.doubtnut.com/l/_PooSCsayEaPp
https://dl.doubtnut.com/l/_OROlPbiVKuAT


23. Let U = ,

find the following sets. 

B'

View Text Solution

{0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}

24. Let U = ,

find the following sets. 

View Text Solution

{0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}

A' ∪ B'

25. Let U = ,

find the following sets. 

View Text Solution

{0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}

A' ∩ B'

https://dl.doubtnut.com/l/_OROlPbiVKuAT
https://dl.doubtnut.com/l/_BlOuqTwlggjJ
https://dl.doubtnut.com/l/_WC3QmfGzjSgO


26. Let U = ,

find the following sets. 

View Text Solution

{0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}

(A ∪ B)'

27. Let U = ,

find the following sets. 

View Text Solution

{0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}

(A ∩ B)'

28. Let U = ,

find the following sets. 

(A')'

View Text Solution

{0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}

https://dl.doubtnut.com/l/_tF0KP0JxteQe
https://dl.doubtnut.com/l/_aTJLKcDO4IHT
https://dl.doubtnut.com/l/_RzU6DD1cAUxg
https://dl.doubtnut.com/l/_69p53riAHRqW


29. Let U = ,

find the following sets. 

(B')'

View Text Solution

{0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}

30. Find the symmetric difference between the following sets. 

P = {2, 3, 5, 7, 11} and Q={1, 3, 5, 11}

View Text Solution

31. Find the symmetric difference between the following sets. 

R = {l, m, n, o, p} and S = {j, l, n, q}

View Text Solution

32. Find the symmetric difference between the following sets. 

X = {5, 6, 7} and Y={5, 7, 9, 10}

https://dl.doubtnut.com/l/_69p53riAHRqW
https://dl.doubtnut.com/l/_fE8TgUmbGMrh
https://dl.doubtnut.com/l/_MXZTcvSN8DAl
https://dl.doubtnut.com/l/_U3fm5KT2N6Iz


View Text Solution

33. Using the set symbols, write down the expressions for the shaded

region in the following 

View Text Solution

34. Let A and B be two overlapping sets and the universal set be U. Draw

appropriate Venn diagram for each of the following, 

View Text Solution

A ∪ B

35. Let A and B be two overlapping sets and the universal set be U. Draw

appropriate Venn diagram for each of the following, 

https://dl.doubtnut.com/l/_U3fm5KT2N6Iz
https://dl.doubtnut.com/l/_LB5I74lP0ivD
https://dl.doubtnut.com/l/_xDwM2nw7uWeL
https://dl.doubtnut.com/l/_mkiGWGfvV5wt


View Text Solution

A ∩ B

36. Let A and B be two overlapping sets and the universal set be U. Draw

appropriate Venn diagram for each of the following, 

View Text Solution

(A ∩ B)'

37. Let A and B be two overlapping sets and the universal set be U. Draw

appropriate Venn diagram for each of the following, 

View Text Solution

(B − A)'

38. Let A and B be two overlapping sets and the universal set be U. Draw

appropriate Venn diagram for each of the following, 

https://dl.doubtnut.com/l/_mkiGWGfvV5wt
https://dl.doubtnut.com/l/_dDcbnf0u4suv
https://dl.doubtnut.com/l/_hn78KXssnLVR
https://dl.doubtnut.com/l/_HE9ve9loRDwj


Exercise 1 4

View Text Solution

A' ∪ B'

39. Let A and B be two overlapping sets and the universal set be U. Draw

appropriate Venn diagram for each of the following, 

View Text Solution

A' ∩ B'

40. Let A and B be two overlapping sets and the universal set be U. Draw

appropriate Venn diagram for each of the following, 

What do you observe from the Venn diagram (iii) and (v)?

View Text Solution

https://dl.doubtnut.com/l/_HE9ve9loRDwj
https://dl.doubtnut.com/l/_9hW17FAhJgpO
https://dl.doubtnut.com/l/_koFHBuFgUbjM


1. If

, then find 

View Text Solution

P = {1, 2, 5, 7, 9}, Q = {2, 3, 5, 9, 11}, R = {3, 4, 5, 7, 9} and S = {2, 3, 4

(P ∪ Q) ∪ R

2. If

, then find 

View Text Solution

P = {1, 2, 5, 7, 9}, Q = {2, 3, 5, 9, 11}, R = {3, 4, 5, 7, 9} and S = {2, 3, 4

(P ∩ Q) ∩ S

3. If

, then find 

P = {1, 2, 5, 7, 9}, Q = {2, 3, 5, 9, 11}, R = {3, 4, 5, 7, 9} and S = {2, 3, 4

(Q ∩ S) ∩ R

https://dl.doubtnut.com/l/_r6wSwYQzXD3r
https://dl.doubtnut.com/l/_baOZxo8qvhpQ
https://dl.doubtnut.com/l/_O8B2rPtX1NuC


Exercise 1 5

View Text Solution

1. Using the adjacent Venn diagram, find the following sets: 

 


View Text Solution

A − B

https://dl.doubtnut.com/l/_O8B2rPtX1NuC
https://dl.doubtnut.com/l/_AULC50mh4iuY


2. Using the adjacent Venn diagram, find the following sets: 

 


View Text Solution

B − C

https://dl.doubtnut.com/l/_WcJK1IQmEOlY


3. Using the adjacent Venn diagram, find the following sets: 

 


View Text Solution

A' ∪ B'

https://dl.doubtnut.com/l/_0xr330ZAoyDE


4. Using the adjacent Venn diagram, find the following sets: 

 


View Text Solution

A' ∩ B'

https://dl.doubtnut.com/l/_xbsfDwD8Y7qp


5. Using the adjacent Venn diagram, find the following sets: 

 


View Text Solution

(B ∪ C)'

https://dl.doubtnut.com/l/_tCFP9JwHU70R


6. Using the adjacent Venn diagram, find the following sets: 

 


View Text Solution

A − (B ∪ C)

https://dl.doubtnut.com/l/_0xMkx788Xde7


7. Using the adjacent Venn diagram, find the following sets: 

 


View Text Solution

A − (B ∩ C)

8. If  then

find the following and verify distributive laws. 

View Text Solution

K = {a, b, d, e, f}, L = {b, c, d, g} and M = {a, b, c, d, h}

K ∪ (L ∩ M)

https://dl.doubtnut.com/l/_Ov2EkZaiVeTW
https://dl.doubtnut.com/l/_hdlcDNyARhJx


9. If  then

find the following and verify distributive laws. 

View Text Solution

K = {a, b, d, e, f}, L = {b, c, d, g} and M = {a, b, c, d, h}

K ∩ (L ∪ M)

10. If  then

find the following and verify distributive laws. 

View Text Solution

K = {a, b, d, e, f}, L = {b, c, d, g} and M = {a, b, c, d, h}

(K ∪ L) ∩ (K ∪ M)

11. If  then

find the following and verify distributive laws. 

View Text Solution

K = {a, b, d, e, f}, L = {b, c, d, g} and M = {a, b, c, d, h}

(K ∩ L) ∪ (K ∩ M)

https://dl.doubtnut.com/l/_NoAIkrRSBpQk
https://dl.doubtnut.com/l/_Bvy6qUnTJgxq
https://dl.doubtnut.com/l/_ipJeqQaKHRrG


Exercise 1 6

1. If , find 

.

View Text Solution

n(A) = 25, n(B) = 40, n(A ∪ B) = 50 and n(B' ) = 25

n(A ∩ B) and n(U)

2. If n(A)= 300, , find

n(B) and n(U)

View Text Solution

n(A ∪ B) = 500, n(A ∩ B) = 50 and n(B' ) = 350

3. In a class, all students take part in either music or drama or both. 25

students take part in music, 30 students take part in drama and 8

students take part in both music and drama. Find 

The number of students who take part in only music.

View Text Solution

https://dl.doubtnut.com/l/_eN975dgZ63Cd
https://dl.doubtnut.com/l/_z30aiVKoJKlm
https://dl.doubtnut.com/l/_CfZyhKVnlsXU


4. In a class, all students take part in either music or drama or both. 25

students take part in music, 30 students take part in drama and 8

students take part in both music and drama. Find 

The number of students who take part in only drama.

View Text Solution

5. In a class, all students take part in either music or drama or both. 25

students take part in music, 30 students take part in drama and 8

students take part in both music and drama. Find 

The total number of students in the class.

View Text Solution

6. In a party of 45 people, each one likes tea or coffee or both. 35 people

like tea and 20 people like coffee. Find the number of people who 

like both tea and coffee.

View Text Solution

https://dl.doubtnut.com/l/_PzcwLwqYgmeD
https://dl.doubtnut.com/l/_9SEBZxI2nR3z
https://dl.doubtnut.com/l/_OHGmx4OQ8aQW


View Text Solution

7. In a party of 45 people, each one likes tea or coffee or both. 35 people

like tea and 20 people like coffee. Find the number of people who 

do not like Tea.

View Text Solution

8. In a party of 45 people, each one likes tea or coffee or both. 35 people

like tea and 20 people like coffee. Find the number of people who 

do not like coffee.

View Text Solution

9. In an examination 50% of the students passed in Mathematics and 70%

of students passed in Science while 10% students failed in both subjects.

300 students passed in both the subjects. Find the total number of

https://dl.doubtnut.com/l/_OHGmx4OQ8aQW
https://dl.doubtnut.com/l/_eQHRsdxUKj0C
https://dl.doubtnut.com/l/_i9Uanq52bqwA
https://dl.doubtnut.com/l/_sAji3OEatGVx


students who appeared in the examination, if they took examination in

only two subjects.

View Text Solution

10. A and B are two sets such that

. Illustrate the

information by means of a Venn diagram. Given that n(A) = n(B), calculate

the value of x.

View Text Solution

n(A − B) = 32 + x, n(BA) = 5x and n(A ∩ B) = x

11. Out of 500 car owners investigated, 400 owned car A and 200 owned

car B, 50 owned both A and B cars. Is this data correct?

View Text Solution

https://dl.doubtnut.com/l/_sAji3OEatGVx
https://dl.doubtnut.com/l/_oGwO6IJO1dq5
https://dl.doubtnut.com/l/_Gfxf7L55juR1


12. In a colony, 275 families buy Tamil newspaper, 150 families buy English

newspaper, 45 families buy Hindi newspaper, 125 families buy Tamil and

English newspapers, 17 families buy English and Hindi newspapers, 5

families buy Tamil and Hindi newspapers and 3 families buy all the three

newspapers. If each family buy atleast one of these newspapers then find 

Number of families buy only one newspaper

View Text Solution

13. In a colony, 275 families buy Tamil newspaper, 150 families buy English

newspaper, 45 families buy Hindi newspaper, 125 families buy Tamil and

English newspapers, 17 families buy English and Hindi newspapers, 5

families buy Tamil and Hindi newspapers and 3 families buy all the three

newspapers. If each family buy atleast one of these newspapers then find 

Number of families buy atleast two newspapers

View Text Solution

https://dl.doubtnut.com/l/_BzShiFkKdwHg
https://dl.doubtnut.com/l/_IfqJ5QYOH231


14. In a colony, 275 families buy Tamil newspaper, 150 families buy English

newspaper, 45 families buy Hindi newspaper, 125 families buy Tamil and

English newspapers, 17 families buy English and Hindi newspapers, 5

families buy Tamil and Hindi newspapers and 3 families buy all the three

newspapers. If each family buy atleast one of these newspapers then find 

Total number of families in the colony.

View Text Solution

15. A survey of 1000 farmers found that 600 grew paddy, 350 grew ragi,

280 grew corn, 120 grew paddy and ragi, 100 grew ragi and corn, 80 grew

paddy and corn. If each farmer grew atleast any one of the above three,

then fi nd the number of farmers who grew all the three.

View Text Solution

16. In the adjacent diagram, if , y is two times of x and z is 10

more than x, then fi nd the value of x ,y and z. 

n(U) = 125

https://dl.doubtnut.com/l/_KXbqkOsTJiG0
https://dl.doubtnut.com/l/_GOsNXrMKnL37
https://dl.doubtnut.com/l/_ceA9cz45tYst


View Text Solution

17. Each student in a class of 35 plays atleast one game among chess,

carrom and table tennis. 22 play chess, 21 play carrom, 15 play table

tennis, 10 play chess and table tennis, 8 play carrom and table tennis and

6 play all the three games. Find the number of students who play 

chess and carrom but not table tennis

View Text Solution

https://dl.doubtnut.com/l/_ceA9cz45tYst
https://dl.doubtnut.com/l/_5L4WrTqmRicC


18. Each student in a class of 35 plays atleast one game among chess,

carrom and table tennis. 22 play chess, 21 play carrom, 15 play table

tennis, 10 play chess and table tennis, 8 play carrom and table tennis and

6 play all the three games. Find the number of students who play 

only chess

View Text Solution

19. Each student in a class of 35 plays atleast one game among chess,

carrom and table tennis. 22 play chess, 21 play carrom, 15 play table

tennis, 10 play chess and table tennis, 8 play carrom and table tennis and

6 play all the three games. Find the number of students who play 

only carrom

View Text Solution

20. In a class of 50 students, each one come to school by bus or by bicycle

or on foot. 25 by bus, 20 by bicycle, 30 on foot and 10 students by all the

https://dl.doubtnut.com/l/_u19TL2jHrUfc
https://dl.doubtnut.com/l/_QzC4b8JhdaU4
https://dl.doubtnut.com/l/_kT0UPYBDjWzK


Exercise 1 7 Multiple Choice Questions

three. Now how many students come to school exactly by two modes of

transport?

View Text Solution

1. Which of the following is correct?

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

{7} ∈ {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

7 ∈ {1, 2, 3, 4, 5, 6, 7, 8, 10}

7 ∈ {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

{7} ⊆ {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

https://dl.doubtnut.com/l/_kT0UPYBDjWzK
https://dl.doubtnut.com/l/_QOwhTPp7vCI9


2. The set  is a

A. Singleton set

B. Power set

C. Null set

D. Subset

Answer: A

View Text Solution

P = {x ∣ x ∈ Z, − 1 < x < 1}

3. If  then

(A') is

A. {1,6,7,8,9}

B. {1,2,3,4}

C. {2,3,4,5}

D. { }

U = {x ∣ x ∈ N, x < 10} and A = {x ∣ x ∈ N, 2 ≤ x < 6}

https://dl.doubtnut.com/l/_fCnaQ7NMceEO
https://dl.doubtnut.com/l/_385ptoSYf0A7


Answer: C

View Text Solution

4. If  then  is

A. 

B. 

C. 

D. n(A)

Answer: B

View Text Solution

B ⊆ A n(A ∩ B)

n(A − B)

n(B)

n(B − A)

5. If A = {x,y,z} then the number of non- empty subsets of A is

A. 8

https://dl.doubtnut.com/l/_385ptoSYf0A7
https://dl.doubtnut.com/l/_3i0IgNakOqYS
https://dl.doubtnut.com/l/_d3ONKZQaQJ7V


B. 5

C. 6

D. 7

Answer: D

View Text Solution

6. Which of the following is correct?

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

ϕ ⊆ {a, b}

ϕ ∈ {a, b}

{a} ∈ {a, b}

a ⊆ {a, b}

https://dl.doubtnut.com/l/_d3ONKZQaQJ7V
https://dl.doubtnut.com/l/_v3Yob4BuMDz1
https://dl.doubtnut.com/l/_jNLTT2qYPunN


7. If , then

A. 

B. A=B

C. 

D. 

Answer: B

View Text Solution

A ∪ B = A ∩ B

A ≠ B

A ⊂ B

B ⊂ A

8. If  is B, then  is

A. A

B. B

C. U

D. 

B − A A ∩ B

ϕ

https://dl.doubtnut.com/l/_jNLTT2qYPunN
https://dl.doubtnut.com/l/_GkZlJMUK70AE


Answer: D

View Text Solution

9. From the adjacent diagram  is 


A. 8

B. 16

C. 32

D. 64

n[P (AΔB)]

https://dl.doubtnut.com/l/_GkZlJMUK70AE
https://dl.doubtnut.com/l/_qClh5MxbLA5I


Answer: C

View Text Solution

10. If , then the minimum and maximum

number of elements in  is

A. 10,15

B. 15,10

C. 10,0

D. 0,10

Answer: D

View Text Solution

n(A) = 10 and n(B) = 15

A ∩ B

11. Let , then  isA = {ϕ} and B = P (A) A ∩ B

https://dl.doubtnut.com/l/_qClh5MxbLA5I
https://dl.doubtnut.com/l/_t5sAFmO8Z3Z9
https://dl.doubtnut.com/l/_97S82bGwcvS6


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

{ϕ, {ϕ}}

{ϕ}

ϕ

{0}

12. In a class of 50 boys, 35 boys play Carrom and 20 boys play Chess then

the number of boys play both games is

A. 5

B. 30

C. 15

D. 10

Answer: A

https://dl.doubtnut.com/l/_97S82bGwcvS6
https://dl.doubtnut.com/l/_57YASaoaLBk1


View Text Solution

13. If

, then  is

A. 1

B. 2

C. 4

D. 8

Answer: A

View Text Solution

u = {x : x ∈ N and x < 10}, A = {1, 2, 3, 5, 8} and B = {2, 5, 6, 7, 9}

n|(A ∪ B)|

14. For any three sets P, Q and R,  is

A. 

P − (Q ∩ R)

P − (Q ∪ R)

https://dl.doubtnut.com/l/_57YASaoaLBk1
https://dl.doubtnut.com/l/_m4yezZkjSOvo
https://dl.doubtnut.com/l/_c3XJOlUuVTNz


B. 

C. 

D. 

Answer: C

View Text Solution

(P ∩ Q) − R

(P − Q) ∪ (P − R)

(P − Q) ∩ (P − R)

15. Which of the following is true?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

A − B = A ∩ B

A − B = B − A

(A ∪ B)' = A' ∪ B'

(A ∩ B)' = A' ∪ B'

https://dl.doubtnut.com/l/_c3XJOlUuVTNz
https://dl.doubtnut.com/l/_fVCactsZVykt
https://dl.doubtnut.com/l/_iMZwf3u7Afwb


16. If

, then the value of x is

A. 10

B. 15

C. 25

D. 30

Answer: A

View Text Solution

n(A ∪ B ∪ C) = 100, n(A) = 4x, n(B) = 6x, n(C) = 5x, n(A ∩ B) = 20

17. For any three sets A, B and C,  is equal to

A. A only

B. B only

C. C only

(A − B) ∩ (B − C)

https://dl.doubtnut.com/l/_iMZwf3u7Afwb
https://dl.doubtnut.com/l/_UZuDDQ3U7OgO


D. 

Answer: D

View Text Solution

ϕ

18. f J = Set of three sided shapes, K = Set of shapes with two equal sides

and L = Set of shapes with right angle, then  is

A. Set of isoceles triangles

B. Set of equilateral triangles

C. Set of isoceles right triangles

D. Set of right angled triangles

Answer: C

View Text Solution

J ∩ K ∩ L

https://dl.doubtnut.com/l/_UZuDDQ3U7OgO
https://dl.doubtnut.com/l/_jkQDGWbLRcWf


19. The shaded region in the Venn diagram is 

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

Z − (X ∪ Y )

(X ∪ Y ) ∩ Z

Z − (X ∩ Y )

Z ∪ (X ∩ Y )

https://dl.doubtnut.com/l/_UScOwWZeNy15


20. In a city, 40% people like only one fruit, 35% people like only two

fruits, 20% people like all the three fruits. How many percentage of

people do not like any one of the above three fruits?

A. 5

B. 8

C. 10

D. 15

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_UScOwWZeNy15
https://dl.doubtnut.com/l/_pKWxbIl0rWik

